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“Ind the domain and range. Then determine if it Is a function.

6,). 2,1).(-2,3) 2.(=5,2),(2,9.0.1,(=5,-2) 3. x+y=2
Find each value f f(x) = 5x -9 and g(x) = 2x+35.
Afe 5 g-30) 6. 1g(@)

State whether each s inear.
73oy=s B 2xeystl  Seexyey

Write each equation in standard form, then find the value of A, B, and C.

10.y=7xs 15 11 2x-3y=6
El)
Find the x and y intercepts.
2 =l y=xed 13, 6x4 12y =48
5

Find the siope

14, (-6,-3),(6,7) 15, (4,-3)4,5)

‘Write an equation in slope Intercept form given the following.

16. slopeis 3, yinterceptis 10 17. (3, -8), (6, 1) 18 m=-2,(-3,5)
0

19, passes through (3, 2) parallel 0 the graph y = 2x-5
20. passes through (-5, ) perpendicular to the graph x + 2y = 4
Graph. Makea sketch.
21, pass through (0, 1) with a slope of 2.
22. pesses through (3, -2) perpendicular (0 a slope of 2
2.

23. passes through (-2,2) paralll 0 the graph of 2x +y = ¢

)2 mo=qa-1 - 25 10023 x-2 +4
G2 et 77 y>2x-5
3 e
2 3x-2y28 2 s
30 x+2y=4 o 10
Find the slope.
SLx= 2 x-2yms

33. Witean equation i slop intrcept form given th x-ntercept =3 sad the
yimercept=2
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